
Westerlund – Sundell 

Stark  

1  = 17+ 

1  = 11‐13 NT el. 11‐16 Naturligt 

1/ = 11‐16 5+/ 

1NT = 14‐16 överföring. 

2  = 11‐16 5+  

2  = 6+ / 3‐9 hp. 

2/ = 10‐13 6+ / 

2NT = 22‐24 

3X = Spärr 

3NT = Chans 

4X = Spärr 

 

 

Övriga konventioner 

RKCB 14‐30, Lebensohl, Manco 

Minisplinter, Fitjump, Support Dbl. 

XYZ‐NT 

Försvarsbud 

1NT = 15‐18 (11‐14) Överföring. 

2NT = Böes  (19‐21) Puppet. 

Överbud = 5‐5 (Bra kort) 

Hoppinkliv = Svagt 

Mot 1NT = Cappeletti 

Mot Stark  = BS ‐Försvar 

10‐12 / S‐M‐L i alla lägen 

Undantag om tekniskt rätt.  



 

 


